R 1 4
A — N ATHRHTE (G640 9H 10 HEIE)
HAT [ QHERLE )

R PEESR A B X B B W A& WO
— 7R 0 ks JEH (e ks — R 7R 0 ik JEH (e fliks

b W E 117.0 127.1 [ -0.9 ] -1.3 [ -1.2] -2.2
(5 AL ) 114.4 112.0 [ -3.3] -3.3 [ -3.0] -3.0
W R 117.0 127.1 [ —0.9 ] -1.3 [ -1.2] -2.2
i & 120.5 124. 4 [ +1.8 ] +0. 9 [ +4. 1 ] +2. 0
F=) F 109. 0 113.2 [ -0.8 ] -1.0 [ 2.2 ] 2.2
21 3 115.5 122.5 [ -1.3] -1.3 [ -2.5 ] -1.6
(2. BA) 104. 0 125.0 [ 4.5 ] 4.5 [ 4.0 ] 4.0
ik M 107.5 116. 6 [ -1.6 ] -1.6 [ -1.2 ] -1.2
iy i 114. 8 121.9 [ -3.9 ] -3.9 [ -2.9 ] -1.2
& B 122.5 124. 8 [ 2.4 ] 2.4 [ -5.3 ] -0.7
Ak B 114.5 119. 4 [ -1.4] -1.6 [ -2.7] -1.1
K 3 118. 4 126. 1 [ -2.6 ] 2.6 [ -2.0 ] -2.0
_________ i K 127.6 136. 3 [ -1.5 ] -1.5 [ -1.4 ] -1.5
i3 5 111.7 140. 5 [ +10.5 ] +10. 5 [ +1.0 ] +1. 0
B B 109. 1 120. 2 [ —4.8 ] 2.5 [ -3.5 ] -2.6
(55 S\ ET) 104, 7 109. 8 [ -3.6 | -3.6 [ -2.2 ] -2.2
T ES 117.1 122.2 [ -2.5] -2.5 [ -1.9] -1.9
(5.5 T3Em) 117. 4 119.5 [ -3.6 ] -3.6 [ -3.6 ] -3.6
i 5 122.2 128.7 [ +0.7] -0.1 [ +1.8 ] +0.9
(552 3K) 121. 4 126. 6 [ +0. 4 ] -0, 4 [ +1.7 ] +1. 0
oz 117.9 130.3 [ -0.9 ] -0. 1 [ +0.8 ] +1.0
(5 bkiE) 125. 6 131.3 [ -1.8 ] -0.9 [ +1.8 ] +2.4
(5 Bk ) 126.0 131.5 [ -1.6 ] -1.6 [ -1.5] -1.5
# ) 114. 4 118.0 [ -0.8 ] -1.3 [ -3.4 ] -2.8
(5 BHHE ) 112.2 113.7 [ -1.8] -3.3 [ -1.6 ] -3.1
& g 112.5 117.8 [ -2.2 ] -1.3 [ 2.1 ] -1.6
if] L 106. 2 116.8 [ -0.7 ] 0.6 [ -1.5] -1.5
i ] 114.5 131.4 [ +0.1 ] -1.1 [ +1.5 ] +0. 4
(5 i ) - - [ -] - [ -] -
(5 bk 123.7 123. 4 [ -1.7] -1.7 [ -1.6] -1.6
BHoo® B 116. 1 124.7 [ -1.4] -1.1 [ -1.0] -1.0
% 51 105.9 118.8 [ -2.3] -2.4 [ -0.8 ] -0.8
(O BAERT) 115.5 129.0 [ -1.8] -1.8 [ +1.0 ] +1.0
53 B 109. 1 115. 1 [ -1.0 ] -1.0 [ -1.9 ] -1.9
= i 103.6 112.0 [ -4, 3 ] 4.3 [ -2.7] -2.7
" il 113.4 119. 1 [ -0.5 ] -0.5 [ -0.9 ] -0. 8
i il 115.7 117.3 [ -1.3] -1.3 [ -1.4] -1.3
A R - 107.9 116.6 [ -2.2 ] -2.2 [ -1.4 ] -1.5
_________ ® i 112. 2 126. 0 [ -1.8] -1.8 [ -0.9 ] -3.3
i3 i 107.5 121.6 [ -1.4 ] -1.4 [ -3.1 ] -3.1
p1y # 101.6 106. 7 [ +2.6 ] +2.5 [ -1.7] -1.7
(3 LU 99. 0 105. 4 [ +4. 4 ] +4, 4 [ -1.4 ] -1.4
% ! 104. 7 109. 8 [ -2.3 ] -2.3 [ -2.8 ] -2.8
X /3 95.0 103.9 [ -1.5 ] -1.4 [ -2.1] -2.1
(5 BKEH) 91.8 100. 8 [ -1.4] -1.4 [ -2.0] -2.0
(5 L) 88. 2 102. 0 [ -3.1 ] -3.0 [ -2.0 ] -2.0
5t JiE 108. 4 116.2 [ -0.2 ] -1.3 [ -1.2] -1.8
(3 b 111.0 117.3 [ +7.9 ] - [ -4, 2 ] -
o1l 108. 8 114.1 [ 0.0 ] +0. 1 [ -1.0] -0.9
N ! 105.3 113. 1 [ -1.1] -1.3 L -2.1] -2.2
_________ = Jid 105.5 115.2 [ —6. 8 ] 6.8 [ -1.8] -1.8
5 i 117.9 127.7 [ 4.7 ] -3.0 [ —4.1 ] -3.0
] i 100. 6 104.7 [ -3.3] 2.6 [ -2.6] -2.0
(2. B0 L) 97.3 100. 8 [ -2.4 ] -2.4 [ -1.6 ] -1.6
S B 112.9 116.8 [ -1.1] -1.4 [ -2.0] -1.9
(3 bR 105. 8 105. 5 [ -1.7] -1.6 [ -3.3] -3.2
i =) 106. 3 118.7 [ +1.5 ] +1.5 [ -0.7] -0.6
S5 107.8 115. 1 [ -2.8 ] -1.8 [ -2.3] -1.8
B 106. 3 112.0 [ -0.4 ] -0. 4 [ -0.5 ] -0.5
)1 108. 6 117.2 [ -0.4 ] —0. 4 [ 0.0 ] 0.0
I 101, 2 111.6 [ -1.7] 1.7 [ -1.6 ] -1.6
%0 94.9 99.3 [ -6.4 ] -1.7 [ -2.5 ] +1.9
5 103. 4 111.7 [ -1.5] -1.1 [ -0.8 ] -0.7
] 118.8 123.7 [ -2.6 ] -2.6 [ -3.8] -3.7
(5 B[ i) 127.6 129.8 [ -3.3] -3.3 [ -3.3] -3.3
(5 BALILIM ) 114. 1 118.6 [ -3.2 ] 3.1 [ -3.2 ] -3.1
1 o 107. 2 111. 1 [ -1.4 ] -1.4 [ -0.3 ] -1.4
5 [ 125.0 127.6 [ -0.6 ] -1.4 [ —0.6 ] -1.0
i S 120. 8 130.0 [ -3.5] -3.5 [ -4.7] 4.7
(2. BfeA) 105. 6 121.5 [ =5.2 ] -5.2 [ -9.3 ] -9.2
X a0 113.0 119.0 [ -4, 3] —4.3 [ —4.5 ] 4.5
= 53 116. 8 122.5 [ -2.5 ] -0.6 [ -3.0 ] -0.9
R & 133.2 132.8 [ +0.4 ] -1.4 [ 0.0 ] -1.5
MR 119. 1 124.0 [ -2.8] -2.6 [ -2.8] -3.0
WM B 106.0 106. 0 2.0 -2.0 2.0 -2.0
& [ 112. 4 119.7 -1.8 ] -1.6 -1.8 ] -1.6

) 1. BsRERT O S BABRTIE, AHEERGOND ERERRTE RNEDARTE EEA,
2. HiEFRAEREIL. 4 - §iEOWTIUS B2 B - 72 [ — 5 OFE D 7 & R R IR R,
Fhoo [ IMNIE. ARl - §IENCEE O & > 7242 T OFRA S & I 282 H,




